1.5
Passing partner’s 1NT opening
Generally speaking we need about 25 combined points for game when both hands are relatively flat. If responder has 7 or less points then it’s usually best to pass.

Hand A
Hand B
With Hand A there may be a 4-4 ( fit but we do not have a good





enough hand to find out and have to pass 1NT

( Q962
( 985


( J76
( 873
And Hand B may well play better in 2(, but we cannot bid that 

( J982
( J2
as it has a forcing conventional meaning (Stayman).

( 52
( AJ875


But we do not always have to pass with very weak hands. I’ll give a few examples here, it is all covered in much more detail later in this book,

Hand C
Hand D
With Hand C there may be a 4-4 ( or ( fit and with this shape





we can actually look for a fit. We cover this later when we talk
( Q962
( Q9632
about Garbage Stayman.

( J762
( J762
 

( J982
( J2
And we can also cope with Hand D. Again, this is covered in the

( 5
( 75
Garbage Stayman section.

Hand E
Hand F

With Hand E 2( will almost certainly play better than 1NT, even





if there is only a 5-2 ( fit. We will cover transfers to the majors 

( Q9642
( 985
later

( J76
( 87
 

( J982
( J2
We saw that we could not play in 2( with Hand B, but add an 

( 5
( AJ8752
extra ( and we can transfer into 3(. Again, it’s covered later.

Hand G
Hand H
Hand G will probably play better in a minor, but we have no




way of finding a fit at a low level and we do not want to play

( 982
( 98
at the 3 level with no fit when we could have been playing in 1NT.

( 7
( 7
 

( J974
( J9742
There is a convention to show a hand that’s weak and 5-5 in the 

( QJ875
( QJ875
minors like Hand H but we use the bid for another meaning. Anyway, the opposition has usually said something when they have the majors. So we pass 1NT with Hands G & H.
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